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BEAIIEEa=F/m=7N/0.6Kg=(35/3)m/s"2a=V"2/RE/\F¥ER=V~*2/a=(2m/s
)A2/(35/3)m/s”2=(12/35)m=0.34mE5¥E , F=R40.1m , 523.5B8 58 FE
F0.34m , £¥Ewl1=V0/R1=2m/s+1m=2rad/sw2=V0/R2=2m/s+0.9m=(20/
9rad/sw3=V0/R3=2m/s+0.8m=2.5rad/sw4=V0/R4=2m/s+0.7m=(20/7)rad/
s w5=V0/R5=2m/s+0.6m=(10/3)rad/sw6=V0/R6=2m/s+0.5m=4rad/s
w7=VO0/R7=2m/s+0.4m=5rad/sT=t1 t2 t3 t4 t5 t6 t7=1t/w1 /W2 /W3
/w4 /w5 /w6 1/Ww7=(0.51)s (0.451)s (0.41)s (0.351m)s (0.31)s (0.2511)s (O.
2m)s=(2.45m)s2.1 ) RISSHNNEELIE] , F10sSIEMZZEE , 2¥UTH2.2 )
BI5SAYAMEREal=F1/m=1N/0.5Kg=2m/s" 25sKRHNIRERI15sRIEFR T AIATTTIE
BV1=altl=2m/s"2x5s=10m/s[510spymiEEa2=F2/m=0.5N/0.5Kg=1m/s”
2[EAEIMELOsANERERP 15 sARIEIb A AR IEREV2=a2t2=1m/s"2x10s=10m/s
BIEEV=V(V1r2 V2A2)=V[(10m/s)*2
(10m/s)~2]=10v2m/sit{®wERO0Ftg0=V1/V2=(10m/s)/(10m/s)=16=45°
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